6. Find the power series representation for the function f(z) = In(1 — 2z) centered at 0.
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7. Find the Taylor series for f(z) = zeXatT="2:
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8. Find the Maclaurin senes for f(z) = zsin(z?).
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9. Find the sum of the series
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10. Evaluate the indefinite integral as a power series [ e*’dz 2
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11. Approximate f(z) = sinz by a Taylor polynomial of degree 3 at 7/4. How accurate is

this approximation if 0 < z < /27?7
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13. Find the angle between the vectors @ = 7'+ 7+ 2k and b = 27— 3k.
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14. Find the directional cosines for the vector @ = —27'+ 37+ k. ) f
-4
Cos o =

/g4
o o= o=
coo((-—‘—

1

)}

4
(4’

.k...}

15. Find the scalar and the vector projections of the vector:< 2,-3,1
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